REEER

M
AC
=)
&
=

@b
BhLEREAT

SR

BEMICLFEBEERD

| BusigabsnETO

TIRERBLES L,

A10144 | A—FROY 1}

SGPERDEENXAR/N> K,

@ [A10140/ & >t ] & V) st H RV S,

@200ALL L%, /N> REERICHERIR 2 88 LTWET,
@Oy |3RIRBICENET,

@S FE - =t LT,
mBEI—K A10144 N—FBOv 71+ B4 (mm)
VAR | & B | HORE | wrmres R BAIL N AM
a-k | () | @ |BEEARE )t C Neiex | DIH T g i@
0019 15A Vs 21.7 23| 25 | M 6%X20 | 26 73| W%
0023 20A % 27.2 23| 25 | M 6X20 | 26 76 | W%
0038 25A 1 34.0 23125 | M 6X20 | 26 79 | W%
0042 32A 1% 42.7 23| 25 M 8X%25 26 83 W%
0057 40A 1% 48.6 23| 25 | M 8x25 | 26 86 | W%
0061 50A 2 60.5 23125 | M 8%x25 | 26 92 | W%
0076 65A 2V 76.3 26| 25 | M10X30 | 26 9 | W%
0095 80A 3 89.1 26| 25 | M10X30 | 26 | 105 | W%
0108 90A 3% 101.6 26 | 25 | M10X30 | 26 | 111 W%
0112 100A 4 114.3 26| 25 | M10X30 | 26 | 118 | W%
0127 125A 5) 139.8 45| 32 | M12x45 | 36 | 144 | W'
0131 150A 6 165.2 45| 32 | M12x45 | 36 | 157 | W',
0146 200A 8 216.3 6.0 | 50 | M16X50 | 55 | 212 | W%
0165 250A 10 267.4 6.0 | 50 | M16X50 | 55 | 238 | W%
0170 300A 12 318.5 6.0 | 50 | M16X50 | 55 | 263 | W%




